
HISSAN CENTRAL EXAMINATION – 2079 (2022) 

Grade : XII F.M.: 75 

Time : 3 hrs  

ECONOMICS (3041 Set A) 

The candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks. 

 GROUP A 

clt ;+lIfKt pQ/fTds k|Zgx¿ (Very Short Answer Questions) 
;a} k|Zgx¿ xn ug'{xf];\ (Attempt All Questions)   (11 × 1=11) 

1. b'n{etf eg]sf] s] xf] < 

 What do you mean by scarcity? 

2. olb s'g} Pp6f kmd{n] %) cf]6f c08f ?= !) k|lt PsfOsf b/n] ljqmL ub{5 eg] pSt kmd{sf] 

s"n cfo kQf nufpg'xf];\ . 

 If a firm sells 50 eggs at per unit price Rs. 10, then find the total revenue 

of the firm. 

3. k|utLzLn s/ eg]sf] s] xf]< 

 What do you mean by progressive tax? 

4. :f+/If0f Jofkf/sf s'g} b'O{cf]6f kmfObfx? n]Vg'xf];\ . 

 Write any two advantages of protection trade. 

5. cfly{s  c;dfgtf eg]sf] s] xf] < 
 What do you mean by economic inequality? 

6. ;+o'Qm /fi6«;+3sf] lbuf] ljsf;sf] rf}yf] nIo pNn]v ug'{xf];\ . 

 Mention the fourth goal of the United Nation’s SDGs. 

7. g]kfnsf] cy{tGqnfO{ ljk|]if0faf6 x'g] s'g} b'O{cf]6f kmfObfx? n]Vg'xf];\ .  

 Write any two advantages of remittance for Nepal’s economy. 
8. g]kfnsf] a}b]lzs Jofkf/ 3f6f sd ug]{ s'g} b'O{ pkfox? jtfpg'xf];\ .  

 Suggest any two measures of reducing trade deficit of Nepal. 
9. ax'jrgsf] ?kdf tYof+szf:qnfO{ kl/eflift ug{'xf];\ . 

 Define statistics in plural sense. 
10. olb * hgf laBfyL{x?n] cy{zf:df k|fKt u/]sf] k|fKtfª\ssf] of]ukmn $* / tL k|fKtfª\ssf 

ju{x?sf] of]ukmn #^) x'G5 eg] :t/Lo ljrng kQf nufpg'xf];\ . 

 If the sum of obtained marks of 8 students in economics is 48 and the sum 
of squares of their obtained marks is 360, then find out the standard 
deviation. 

 
 
 

11. lbOPsf] tYo+fssf] dWos !@ eP ’X’ sf] dfg kQf nufpg'xf];\ .   
 Find the value of ‘X’ if the mean of given data is 12. 

 pd]/ aif{df=(Age in Year): 5,  10,  15, X,  25. 

 

 GROUP B 

;+lIfKt pQ/fTds k|Zgx¿ (Short Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ . (Attempt All Questions.) [8 × 5=40] 

12. >d ljefhg  eg]sf] s] xf] < o;sf a]kmfObfx? AofVof ug'{xf];\ .      

 What is division of labour ? Explain its disadvantages.  [1+4] 
OR 

 ;dfhafbL cy{tGq eg]sf] s] xf] < o;sf ljz]iftfx¿ JofVof ug'{xf];\ .  
 What is socialist economy? Explain its features.     [1+4] 
13. Hofnfsf] Hofnfsf]if  l;4fGt pbfx/0f;xLt AofVof ug'{xf];\ . 
 Explain the Wage Fund Theory of Wages with an example. 

14. tflnsfsf] cfwf/df tnsf k|Zgx¿ xn ug{'xf];\ .          
 Solve the following questions based on the table.  [2+2+1] 

Jf:t'sf] laqmL 

kl/df0f 

(Q) 

s"n cfo  ?=df  

(TR in Rs.) 

cf};t cfo ?=df 

(AR in Rs.) 

l;dfGt cfo ?=df 

(MR in Rs.) 

1 4 …………… …………… 

2 8 …………… …………… 

3 12 …………… …………… 

4 16 …………… …………… 

 

i. lbOPsf] tflnsf k'/f ug'[{xf];\ . 
Complete the given table.  

ii. k'/f ul/Psf] tflnsfaf6 cf};t / l;dfGt cfo aqm/]vfx? Pp6} /]vflrqdf /rgf 

ug'[{xf];\ . 

Draw the average and marginal revenue curves in a single diagram 

from the completed table. 

iii. k'/f ul/Psf] tflnsf / /]vflrqn] s'g ahf/nfO{ hgfpF5g\ <  

What type of market do the completed table and diagram indicate?                                               



15. cNksfnLg cf};t kl/jt{gzLn nfut / l;dfGt nfut ljrsf] ;DjGw /]vflrqsf] 

cfwf/df ljZn]if0f ug'{xf];\ .  
Analyze the relationship between short run average variable cost and 

marginal cost based on a diagram. 

        16. Affl0fHo a}ssf sfo{x? JofVof ug'[{xf];\ . 

Explain the functions of Commercial Banks. 

      17. g]kfnsf] cfly{s ljsf;df dfgj ;+;fwgsf] e"dLsf n]vfhf]vf ug'{xf];\ .  

Evaluate the role of human resources in the economic development of 

Nepal. 

      18. g]kfnsf] rfn' of]hgfeGbf cl3Nnf] of]hgfsf pknlAwx?sf] rrf{ ug'{xf];\ .    

Discuss the achievements of immediate past plan of Nepal. 

      19.  Pp6} pBf]udf ;+nUg b'O{ sf/vfgfx? A  / B  df sfdbf/nfO{ dfl;s ?kdf ul/g] 

Hofnf e'StfgL]sf] ljZn]if0fn] lGfDglnlvt glthf lbG5 M 

An analysis of monthly wages paid to the workers in two factories A 

and B, belonging to the same industry gives the following results: 

 [4+1] 

sf/vfgf 
Factory 

cf};t dfl;s Hofnf 
Average monthly wages (Rs.) 

Hofnfsf] e]l/oG; 
Variance of wages 

A 586 81 

B 575 100 

i. k|To]s sf/vfgfsf] :t/Lo larng / ljr/0fsf] u'0fffª\s kQf nufpg'xf];\ . 
Find the standard deviation and coefficient of variation for each 

factory. 

ii. A  jf B dWo] s'g sf/vfgfdf dfl;s Hofnfdf al9 kl/jt{gzLntf 5 < cfkm\gf] 

 pQ/ k'li6 ug'{xf];\ . 
In which factory A or B has the greater variability in wages? Justify 

 your answer. 

OR 

tn lbOPsf] cfFs8faf6 kfZr]sf] d'No ;'rsfª\s kQf nufpg'xf];\  / glthfsf] JofVof 

ug'{xf];\ . 

Find Paasche’s Price Index Number from the data given below 

and interpret the result.  [4+1] 

 

     Jf:t' 

(Commodity) 
lj=;= (B.S.) 2075 lj=;= (B.S.) 2078 

d'No 

?=÷s]=hL=  

(Price in 

Rs. /Kg.)  

Jf:t'sf] kl/df0f 

s]=hL df 

(Quantity of 

commodity 

in Kg.)  

d'No ?=÷ 

s]=hL=  

(Price in 

Rs. /Kg)   

Jf:t'sf] kl/df0f 

s]=hL df 

(Quantity of 

commodity in 

Kg.) 

A 6 10 6 12 

B 2 20 4 25 

C 4 40 8 45 

D 10 30 12 32 

 

 GROUP C 

nfdf] pQ/fTds k|Zgx¿ (Long Answer Questions) 

;a} k|Zgx¿ xn ug'{xf];\ . (Attempt All Questions.)  [3 × 8=24] 

 20. Psflwsf/L kmd{n] l;dfGt cfo–l;dfGt nfut ljlw4f/f cNksfndf ;Gt'lnt d"No / pTkfbg 

s;/L lgwf{/0f ub{5 < AofVof ug'{xf];\ .  
How equilibrium price and output are determined in the short-run by a 

monopoly firm using MR-MC approach? Explain.    

21. ;/sf/L vr{ eg]sf] s] xf] < g]kfnsf] cy{tGqsf nflu ;/sf/L vr{ lsg dxTjk"0f{ dflgG5 < 

sf/0fx? lbg'xf];\ . 

What is government expenditure? Why government expenditure is 

important for Nepal's economy? Give reasons. 

22. g]kfnsf] ;Gbe{df a}b]lzs /f]huf/Lsf kmfObf / a]kmfObf n]vfhf]vf ug{'xf];\ . 

Evalute the advantages and disadvantages of foreign employment in the 

context of Nepal.  

                                        OR 

g]kfnsf] j}b]lzs Jofkf/sf] ;+/rgf n]vfhf]vf ug{'xf];\ . 

Evaluate the structure of foreign trade of Nepal. 

 

 

THE END 


